. T =

L Xponenty ~ulee & Yevcentane Freer < i
EQ: How con we ust txpgr\crﬁ rules JrO Simp lP\i comple P
math DU‘rl_u_;’", ' .JHL‘,C';_‘. ’_"? ~ R

Nhydoes this  1.Product Rule:am™-aM = o™

Wor KT 42 .43 = 45 21024

ANhat s the 2. ®uohcn+ Rule: an- = o™

Jifference T3 = 5% *1\5,,25

Setween

pproxmmaiion 3, Power Rule: (OJ“\“ 2, 0

nd estimaotion? (22)?* = 3% =179 P

4. Power of o Product: (abY =af- "
L) (2-5)3 = 22.52 = |00

Nhot s the

everse of 5.Zero BExponent:a®=4

Squore ro ot ¢ 1002° = 4

(o. Negah\ie EXponcr\‘r A" = on

\.JL— _-‘_7 IZS

7. Fractional Ex onent: a® ="Jam
4 S R

5
BXZ - 2x? T‘ms wWorks because the bases
Hx2 are ¥he same and b is divisible

9 | Ervor= Va-Ve Percenlragc Error: _M;_\_LE__\_X 1007,
VE

Ve can use exponent rules as o woy of c\qur\\ém% oLy e C
roblem 10 ma¥e simplifying easter. We are oble Yo moripulate

L\ & A‘hl\n-‘-i/\r\ﬁ. e~ Y A NCIiOr Ao r— A Y D o o - L _L\AA «)\/r‘)l‘\hpm“&.




Ve:exact value Va:approximate volue

'A\)Proxima'\'ioniVQ\ue,%"\,\Jcn o o number
which is close ‘\'D, but not equo\ to, its true
value

|

*Estimation: value which has been found by
Jud%emcm% or prcdichon nstead of cormying
out o more accurate meosurement

“Error : difference betfween measurement
and the actuol value

Accu racy 09' M

A measurement is occurate Yo + /- Yz
the smallest division of Yhe scale

Examp\63 r'h l(cg) of H Kq 3 -5= 1.9Y%g
-5¥q \'L\k% - -5 = .9Kqg
Range
-U¥g Yo \ﬂ\(g
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Practice 5\c\e Exp@r\erﬁ Kules & ")C\CC“\’\TOO.C Ervror

Xo XX e Y = >MOT THE SAME ! PCN\ICF;Q 2 .32
XXX X = ‘%x = 2°

IE U 235-2 _ 3 -3 5
1256% 932" = Z25x 752 PO\NC_V 0953. 243
5><\|'ZZ - ' =3

‘ 3 /iN\-3 132 5% _ |25 .

?_}5‘) :<5\ = 573 7 33" /Z\Ol“! ~ . 05061

022 - (8) P - 22 - S - Viaw -.ousa = Lo

200,000m2 -
tn . Y Km (Hoa0 m) HOOm - 500m = 2 00, 000mM 2

AR EsYimate -250,000m?
PEZ ZOOIOOO —ZSO’OC_)OYlOO: 26’7.
200,000
*rmﬂl%gmz \ . SOKm(\ )CC ""',: 300 3260mm [t \ L 3.7n
R : i 0G0 )
L BOKm PE = 1,000~ 960 4100 = L\.\Lo"/, ~ W7
30(,5m= Ho.Sm Cl(OC\
5 T . 5m  Low: 3.5 4.8 = 724492.715m2

\"’\\q\n'. HU0.5xT75.5S= 30 51.19m*

4S5




